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2.3 fRP-REEIL (x,y)=2x+y.

(a) FPRTZ—H— M (RRHERBE ). (10%)

(b) SR B EH? (AR BY). [10%)

3. ARIEZEME, I=((x.y)ix, yeA, x=y}, LG AxA, L=LuI
ELMEER “ (xyel, (v,2)el = (x,z)el.”
(a) WEBEERNER (5%
(b) BEHOMIEAL b MR, BD “ (xy)eLe, (V,2)eLe = (x,2)eL.”  [15%]

4. B T={a,p,q}, I'=(s | sEEEHZPIRYRF IR (symbol A AR T8 (string) }
BXcE', B (1]aeX, [2]Vsel’ seX=>spaeX [3]VseI’, seX=>sqaeX
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5. RMABZs=(0,12,3,4), FEZs L EMMERITOEITT 2:

+10 1 23 4 *]o0 1.23 4
0j0 1 2 3 4 olo 0 000
112340 1{o1 234
212 3 401 210 2 41 3
3{334 01 2 3lo 31 4 2
4fa 01 23 4lo 4 3 21
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(8) TEZsZOM— R AR, Ix+1=0  [10%] '
(b) FEZsiZ MR—RIMTL TR,

Ix+y=2,
x+4y=1 [10%]




